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SN HBSSAYL
BH: NSH S
Sel: XY S= -

22 o2 (&2 &H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
ANHSEAE A 302,300 310,204 ANT,904
NEX S22 - 229 288 SH(WEYEF/HZNE 120,374 155,140 N 34,766
S5 SDIEH
e s5 - 242 g2 120,374 155,140 N 34,766
AIHSE 22 68,754 71,205 N2,451
101 2124 d| 48,224 46,825 1,399
04 JIZtHI2E2 NS E = 48,224 46,825 1,399
O oy 2= Mo 38,968
o o8l 34,8803 * 4% * 52 x 38xF 26,509
o FTS52¢ 34,880& x 4H x 38=F 5,302
o MEYD PHLY
3,680% * 4% x 62 * 38F 3,357
o AISIEEZ= 3,800,000& = 14 3,800
O nDHHSE HIIIHE & Hel 9,256
o ol 69,760& * 1H x 120 8,372
o MEBZ ALY
7,360 * 1€ * 120& 884
201 Bt A H| 14,850 18,700 A 3,850
01 AR 22l ] 13,850 17,700 A 3,850
O dBt=2H| 13,850
o NSXAEES HYE HH M=
350& * 10,0000H 3,500
o NsSXsSE ot 22 M
450& * 2,0008 900
o NsSx YE=SHA M2
150& * 1,0000H = 12& 1,800
o NsEx 2MYH AFH2XAH HE
150& = 25000 » 12&€ 450
o NSXEES HH
150& * 1,0000H = 12& 1,800
o NEXEEYLE (Y -3S) HE
100 * 2,0000H = 12& 2,400
o NSXANEELR Ot X H&
15,0008 * 2008 3,000
02 E2=2=2%H| 1,000 1,000 0
O A& &Hl Xl 1,000
o DIKQlI =HIIE KXY
500,000 = 23| 1,000
202 04 d| 5,680 5,680 0
01 2L Y| 5,680 5,680 0
O [t st2si A28 D S X XA
20,000 * 3% * 4L x 128 2,880
O&E L MEMHS 9 JSHE ALEX
9 X 0 85,000& » 8Y x 22 % 13 1,360




SN HBSSAYL
BH: NSH S
Sel: XY S= -

#o| o (crl ®a)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 2YEX NSAHSE HEX) S
20,0003 = 29 = 3¢ » 123 1,440
aeae gR 8,290 14,965 AB,675
201 £B-2dH| 6,850 5,450 1,400
01 At 22l 6,850 5,450 1,400
O et==ZH| 6,050
o HEJ|H =AM BHolS &2 E3 4,370
- H3lE 6602 = 3,0007H 1,980
- Zetel= 198,000& * 54 990
- E20d 280,000& = 504 1,400
o SUHEX AEI|H 2FEIE
150,000 * 43| 600
o AMIN SEAR(L - 2%) L S=3
NIIES 4503 * 20000 = 12 1,080
O gxz 800
o REEX ALI|H AFH FXE
400,000& * 23 800
202 044l 1,440 1,440 0
01 SLHOYI 1,440 1,440 0
O A&EIIH MEE X HH
20,000 = 2 * 3 * 123 1,440
fESENE 2 LA HMel 12,130 11,770 360
201 -4l 5,160 4,800 360
02 =224l 5,160 4,800 360
O =322 % HMA 1,200
o SEANYAE ULEX M2
100,000& » 12& 1,200
O AM&ZEHIs Xl 3,960
o SEANEZIE FREZIY S22l
330,000& = 12& 3,960
202 O4dl 6,970 6,970 0
01 = LH 4 bl 6,970 6,970 0
O R28 g 2T AHA &X
85,000& = 2% * 33 123 6,120
O 28 g 2¢ N==HX ASHE =5
85,000& = 2H « 53| 850
SSFINE 24 3,600 29,600 A26,000
201 £B-2dH| 3,600 3,600 0
01 At 22/l 1,200 1,200 0
O ger==&Hl 1,200
o FIE 29 =25+7¢ 100,000& » 12& 1,200
02 =224l 2,400 2,400 0




SN HBSSAYL
BH: NSH S
Sel: XY S= -

#o| o (crl ®a)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O 3322 ¢ HA 2,400
o FIE AME=E mX2el
200,000& = 12& 2,400
g WEHE MEH =012 27,600 27,600 0
201 L2l 22,600 22,600 0
01 At 22l 20,600 20,600 0
O £e2d9Y| 20,600
o XsI HIIZA &SR M
80,0003 * 202 A 1,600
o oPEE B2l MABK o4
80,0003 * 259+ A 2,000
o MEIDXM d&EX 214
80,0003 * 10%A 800
o OIREE FIIHA CHLH oI 4
3,000& = 300A 900
o XNHEAFRI ARAIE Ot MIE F=XHE
NIIEy 5,000 = 3,000 15,000
o B& Ity etlhE ME 60& = 5,000% 300
02 =224l 2,000 2,000 0
O AM&&Hl SNl 2,000
o WEBHEIOXNAN SEI| ==cltl
2,000,000& = 14| 2,000
202 44l 5,000 5,000 0
01 SLHOIYI 5,000 5,000 0
O XNEUEHE MEE 4,520
o 2ZHUY 20,000% = 29 » 83 * 12& 3,840
o 2e 85,000& = 2 * 2& » 23 680
O NsSAtD SHEX l2Egs HH
20,000& = 1€ * 23 128 480
HE2AZH (RS S AL L) (IIEH/DIE) 181,926 155,064 26,862
Jl23&dl 181,926 155,064 26,862
JlEzl 181,926 155,064 26,862
201 et 164,600 134,006 30,594
01 At 22l 42,892 49,006 A6, 114
O Let=8Hl SUAH 23,051,000& = 14 23,051
O SEH SHAH& 19,841,000& * 14 19,841
02 2324l 121,708 85,000 36,708
O 22222 % MA SHAHA
121,708,000 * 14 121,708
202 044l 13,265 17,007 N3,742
01 = LH o4 1l 13,265 17,007 A3,742
O BA2Y SHAHA 13,265,000& * 14 13,265
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